Mother's Arithmetic ¢ Simple Interest

Simple Interest [ Part - VII ]

¥ 1720 to be paid in 4 equal installments in 4
years. Find each installment if rate of interest
is 5% per annum.

T AfK T 1720, 4 A H 4 9UeR fHydl & e amgar
T | woren T Temam B9 =t €l 2 AIfe =T S U 5% B
(A) T 420 (B) % 520
(C) % 500 (D) T 400

A man wants to purchase a T.V. of ¥ 9000. He
paid ¥ 2200 at the time of purchasing and Rest
amount will be paid in 5 monthly installment
of¥ 1400. Find Rate of interest ?

T AT T 9000 T TF At TS =@ € 1% 2200
TohT PTA L A | STF 91E T 1400 Fi 5 Aok fohva
AT ST et A BN A T | T B 2

(A) 12% (B) 6%

(C) 8% (D) 10%

Robin borrows ¥ 10 and returen in 11 monthly

installment of ¥ 1 for next 11 months. Find the
rate of simple interest annually.

U 10 SR g it et 11 9l s ferg 3 1 a0t 11
w1k ol o FTAT HLaT T | TSR0 4TSt St At < 71
wHifTT ?

8
210
) 2177 %

9 6
21—=09 21—9
(€ =217% (D) =177%

The annual installment that will discharge a
debt of ¥ 4200 due in 5 years at 10% simple
interest is—

10% W I HIERoT SATST Sl T H I Ao hea 71 T,
S T 4200 o1 301 5 3t | g0 g e s ?

(A) T 760 (B) Z 800

(C) T 840 (D)% 700

¥ 14000 was paid in 4 years in 4 annual in-
stallment. If the rate of SI is 10% per annum.
Find the each installment —

4 =% 9% <7 T 14000 i 4 =it sreR e o e
ST & | =G oA 1 T 10% =ites HIemo) =&rst gL g, al

T forea =1 iy s gt ?
(A)% 3073.47 (B)T3143.47
(C)T3043.47 (D)Z 3173

6.

A sum of ¥ 16000 which was borroewed 3 years
ago hence is fully repaid in 3 annal installment

1
first installment is 5 ofthe 2™ installment and

2
2nd installment is 5 of third installment. If the

ratio of simple interest is 10% per annum. Find
the value of second installment.

T 16000 =t UM% s 3 o° et SER ot 78 3 T #
TR ST ST RSt o o oS Y B § | UEel foRed gE

%mﬁw@%l@ﬁ%mﬁw&%mﬁ%%wﬁmﬁ

W 10% T, O T Fors a1 A7 91 o 2
(A) % 7000
(B) T 6000
(C) % 7500
(D) % 6500

A mobile is sold for ¥ 4400 cash or for ¥ 2000
cash down payment together with ¥ 2440 to be
paid after one month. Find the rate of interest
changed in the installment scheme.

T HISEa i T 4400 T15 a1 T 2000 % 18 T q01 3

2440 T HEIA o8 ST o 91 O s=1 S dt 3w =t

T ST SATS] o1 &2 1 it |
(A) 20% (B) 18%
(C) 15% (D) 19%

The market price of refrigerator is ¥ 10,000. It
is available on a cash down payment of ¥ 2000
and 9 monthly installment of ¥ 1000 each. Find
the rate of installment.

T TS W 37fsRa Hoar T 10,000 ¥ 1977 T 2,000 FHS T 9 G
%1 % 1,000 it ThTdl T AT ST AT AMIF SIS i L I
Y ?

1
30—"%
(a) 30~

1
32—%
(B) 323

2
30="%
(©) 303

1
D) 33=%
(D) 333

{MATHS (SSC, CDS, Railway) 3 fee 71 geg@ doret "MATHS With PAWAN RAQ" Tl HEITHISE el off qﬁ




Mother's Arithmetic ¢ Simple Interest

10.

11.

12.

13.

A loan of ¥ 848 which has to be paid after 4
years at simple interest rate of 4% per annum.
What will be the sum of each installment to

pay the loan in equal annual installments?
% 848 W1 0T 4 IO Rl H 5 HiTwra AU WL
I W A ST, 9 Tk A fRvd w6t i

e ?
(A)X212 (B) ¥ 200
(C)X 250 (D) T 225

The present worth of ¥ 1404 due in two equal
half yearly installments at 8% per annum
simple interest is—

Tft I 8% W I IR sTganuE frval # 33T 1404 1
A T TR TS TR 1 H 2

(A) T 1325 (B) % 1300

(C)T 1350 (D)% 1500

Irfan took loan from Mukesh of¥ 960 at 6% on a
condition that he would pay it in 4 yearly
instalments. Out of which first 3 instalments

1
would be 2 of the principal and rest amount

would be paid in last instalment. Find the
amount paid by Irfan in the last instalment.

W 7T 960 HHY ¥ 6% W 39 ¥4 W k0 o fw o
39 4 =nfifer forea # gerem | e & veelt 3 v gaum

ﬁ% St s A 1 R 7 S S e d R

ST, @ SR g <t S otfae feRwa = wfdn 3w wiere 2
(A) T 325 (B) T 480
(C)X 396 (D) ¥ 384

If interest on a sum is ¥ 22 and discount on
same sum for same time on same rate is ¥ 20.
Find the sum?

Ifs ot Tfr e ¥ 22 7 &7 3w Tfer 3+ w79 3R
IH W W P2 20 , T ufer 7 il ?

(A) X 220 (B) ¥ 200

()% 210 (D)% 212

Banker's discount on a bill for 6 months at rate
of 16% per annum is ¥ 216. Accordingly, find
actual discount?

T o W 6 FEHT T F 16% ot S w2 T 216 T
TEIER, TR e fohal & 2
(A) T 200
(€)% 180

(B)Z 212
(D)X 210

14.

15.

16.

17.

18.

The discount on a certain sum of money, due
at the end of 9/4 years at 8/3% p.a. is ¥ 78.
Find the sum?

Torett forgra AfT R 9 /4 =t % o7 Tk, 8 /3% aMUF R A
I 78T, MU M ?
(A) ¥ 1,278

(C)X 1,378

(B) % 1,300
(D) ¥ 1,400

If the true discount on a sum due for 2 years
hence at 14% per annum be ¥ 168, the sum
due is —

7 2 Het % 1% 37 I R Aafess 52 14% Wi o i
T 168 T, @ % Tfk 70 2

(A) X 768 (B) ¥ 968

(C) X 1960 (D) ¥ 2400

The true discount on ¥ 2562 due 4 months
hence is ¥ 122. The rate percent is —

% 2562 W 4 HEH % 915 aratosk 23 122 ¥ | 5wl
0 Y 2

1
(A) 12% (B) 13 5%

(C) 15% (D) 14%

The true discount on a bill due 9 months hence
at 16% per annum is ¥ 189. The amount of the
bill is —

9 AEH 915 <7 foet W areafas B2 16% Wia o wITHT
189 %, i foret =t fer 3w =t ?

(A) ¥ 1386 (B) % 1764

(€)X 1575 (D) ¥ 2268

Goods were bought for ¥ 600 and sold on the
same day for ¥ 688.50 at a credit of 9 months
and thus gaining 2%. The rate of interest per
annum is—

Tt T 600 | TR TR SR 9 HEMI % S o hige W T
688.5 H 3T T& o= 7T 3TR 59 TR 2% 1 1 §oTl,
T e =4reT o A1 =i ?

1
(A) 16%% (B) 145%

1
(©) 135% (D) 15%
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Mother's Arithmetic ¢ Simple Interest

19. A man buys a watch for ¥ 1950 in cash and

20.

21.

22.

sells it for ¥ 2200 at a credit of 1 year. If the
rate of interest is 10% per annum, So the
man—

T o7eHt € 1950 TRl H T wet Tliar © Sfsd 1 9
% hfee | 2200 H I=a1 § | A =S W HEd 10% ¥,
T STTEHT Hi—

(A) gains ¥ 55 / T 55 1 @Y

(B) gains ¥ 50 / ¥ 50 1 &11v

(C) loses T30/ T 30 =i 71

(D) gains ¥ 30 / ¥ 30 =1 v

A man purchased a cow for ¥ 3000 and sold it on
the same day for ¥ 3600, allowing the buyer a
credit of 2 years. If the rate of interest be 10%
per annum, then the man has a gain of—

T 3Tt 9 T 3000 # U T TET i 39 39t 57 3
3600 ¥ o f&1 76 BRISER Fi 2 HIe 3l shise fa1 74 |
A SIS AR 10% T, T STIEHt %t R e gran g 2
(A) 0% (B) 5%

(C) 7.5% (D) 10%

The total discount on ¥ 1860 due after a certain
time at 5% is ¥ 60. Find the time after which it
is due?

T 1860 R T My 7T & 918 5% T <18 3 TR
FA T 60 T | IF T T H 15 79 I8 o IAR 2
(A) 9 months (B) 10 months

(C) 7 months (D) 8 months

The difference between simple interest and the
true discount on ¥ 2400 due 4 years hence at
5% per annum simple interest is—

4 91 o TeTT 5% Wi o9 it FEmer & s R R 2400 T
RO TS ST SARfork T2 o o= STl T e 2

(A)X 70 (B)X 30

(€)X 50 (D)X 80

Solution
100x A
(D) Installment= Re(t-1)
100t + ——=
2
ATQ,
Installment = 100 x 51 730
100 x4+ 222 (4-1)
_100x1720 — 7400
© 400+30
(A) LetRate=R%
ATQ,
Total Interest = (2200 + 1400 x 5 - 9000) = ¥ 200
So,
200_6800><1><R+54OO><1><R 4000x1xR
~ 12x100 12x100 12x100
2600><1><R+1200><1><R
12x100 12x100
_ R [20,000] _1200x200 .
:>200—41200 ) :>R_720,000 =12%
© sI=11-10=1
principal=10+9+8+7+6+5+4+3+2+1=
55
o PRT
"~ 100
_55><R><1
© 100x12
R- 100x12
55
_240 _, 9,
11 11
(D) Installment
X 100 x A | 100 x 4200
2 2
B 1OO><4200_%700
600
100 x A
(© Installment= P
1OOt+Rt[2j
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Mother's Arithmetic ¢ Simple Interest

6. (D)

100 x 14000

100><4><10[42_1)

1400000

460
each installment = 3043.47

I installment X E B 2_X
II installment  2x’ M 3x
Ist —» x
IInd —» 2x
IIIrd —» 3x
6x— 16000 = 16000 x L + (16000 L +
x - 10 BRAT:
16000 -2 L
( ~2¥70

= 60x - 16000 = 16000 + 16000 —x + 16000 - 3x

8. (D)

= 64x=208000

= x=3250
IInd installment = 2x = 2 x 3250
= 6500
Cash 34400 Pay I 2000
T 2440
34440

Interest =3 4440 - ¥ 4400 =340

« L
100 12
R =20%

40 = 2400 x

Cash ¥ 10000 Pay <2000

1000 x 9 =9000

311000
Interest =% 11000 - 10000 =% 1000

R 1
1000 = 8000 x 100 *12 + 7000 x 100 *12

R
1000=%[8+7+6

R 5]
~ 1200 |\ 2 1000

+1]1000

R {[Hijsﬂ
1000= 7505 I\ 5 1000
1200 x1000
36x1000

100 1
-2 _33-%
R=73 3”7

Amount of installment in S.I.

100x A

= 100xt+rt¥

9. (B)

Here, A =
r
t

Amount = 848
Rate =4
Time = 4

100x 848
100><4+4><4><%

Each installment =

100 x 848
400+24

100x 848
424
= 200

10. (A) Required sum=P.W. of¥ 702 due 6 months

hence + P.W. 0f¥ 702 due 1 year hence

100 x 702 [

100 x 702 ]
100+ 8x =
2

=5 100 + (8 x1)

=3 (675 + 650) =% 1325

1L0) Lt 555y L3 () L (Ga)y L85

4™ jnstallment
=240 + (960 x 24% — 240 x 36% )
=240 +[240 x 60%]

60

100
=240 + 144 =T 384

= 240 + 240 x

12. (A) Difference between simple interest and dis-

ealint

|

T+t Competitive Exams 5 Pdf Notes il Previous Years @& Questions S13aTals ot faegper Wt n
T Celtm deted "MATHS With PAWAN RAO" @Bt Join Th3et o e




Mother's Arithmetic ¢ Simple Interest

13. (A)

14. (C)

15. (A)

16. (C)

17. (B)

=22-20
=32

Difference <100

Discount
2

= —x100 =100
ZOX 10%

S.I1.x100
RxT

22x100 %920
10x1

So, principal

B.D.x100

Actual discount (T.D.) - 100+ RT
216x100

100 +16 xi
12

216 x100
100 +8
200

Total percentage discount applicable =
1 2

2—%x2—=% =69
3237 7%

ATQ,

6% of principal =X 78

= Principal =¥ 1300
So, Required sum = 1300 + 78 =% 1378

_ 100x T.D. _ 100 x168
" RxT  14x2

.. Sum=(P.W.+T.D,)
=3 (600 + 168) =X 768

P.W. =% (2562 - 122) =3 2440
.. S.I. on T 2440 for 4 months =% 122

=600

100 x 122

- Rate =140 x%

0,
% _ 15%

Let P.W. be T x.
Then, S.I. on ¥ x at 16% for 9 months =%
189

16

9
— X — =
:>x><12 100 189

=x=1575.
S Sumdue =P. W. +T.D.

18. (A)

19. (A)

20. (A)

21. (D)

22. (D)

=% (1575 +189) =% 1764

S.P. after 9 moths =¥ 688.5
Profit = 2%

68
So, C.P. after 9 months =

102 x 100 =675

ATQ,
P.W. =600
Amount = 675
Interest = 75

75%x100 2
Rate = — g = 165%

600 x —

12

Actual C.P. = P.W. of ¥ 1950 due 1 year
hence
~1950x110

100
S.P.=%2200
= Gain = 2200 -2145 =% 55

=32145

120
Actual C.P. = 3000 x

100 =3 3600
S.P. =3 3600
Gain = 0%
Here, A= 1860, R =5%
TD = 60
o Ny AxXxRxT
7 T 100+RXT
60_186O><5><T
=% T100+5T

= 6000 = 9300T - 300T
= 6000 = 9000T

2
=T-= 3 years = 8 months

Given A = 2400, R=5%, T =4 year
AxRxT
100+ R xT

2400x4 x5

= T100+20 (400

i TDi=

- TD_TD><R><T
YT 100
B 400x5x4

100 =380
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